Stoich Warm-Up; Answer the following to check your understanding of stoich problems.

1) What is meant by theoretical yield? Define it in your own words.
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2) What is the difference between experimental yield and theoretical yield? Discuss percent yield
& percent error in your answer. s
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3) 341g¢ of ammoma (NHs) reacts with excess watef to produce ammonium hydroxnde What
would be the theoretical yield of ammonium hydroxide in grams?
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4) Excess calcium nitrate reacts with 114.9 g of ammonium phosphate. What would be the
theoretical yield of the precipitate?
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1) How do you know if a problem is a regular stoich conversion or a limiting reagent problem?
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Theoretical Yield Exit Slip
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2) Determine the theoretical yield of iron in the foIIowing example:

Excess potassium is placed into a solution containing 33.0 g of dissolved iron (lll) chloride.
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3) Determine the theoretical yield of iron in the following example:

14.1 g of potassium are placed into a solution containing 33.0 g of dissolved iron (Ilf) chloride.
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